T05_S01

/ 2 onions are \

There are

_ in one bowl,
§or;z onllons and 4 onions
in owls. are in the

other bowl.

o
=

If we put these
onions together
into a big bowl,
how many
onions are there

altogether? >—>
put together v
\ V ’ \ |

When we put

2 onions and
4 onions
together, we
have 6 onions!
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Example| Write a correct number in the . Put 2 and 4 together,

then write a correct 2
number here. /

./

Exercise | Write a correct number in the

put togethe\ 7 put togethe\ 74

put together @
\ / put together N /

put togethe put togethe\ 7




Exercise | Write a correct number in the

put togeth

put togeth

put togethe

put together

—
o
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put togeth

put togethe!

put together
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Exercise | Write a correct number in the

P N

S S e v e

put togethe

put together’
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Exercise | Write a correct number in the

® |2

put together put together

put together put together

put together put together

put together




Exercise

P

Write a correct number in the

put together

T05_S01
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Exercise | Write a correct number in the

put together S

put together

put together
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/

There are
6 onions in
a big bowl.

\

We split them
into two small
bowls. How
many onions
are there if one
of them has
two onions?

We can split
6 onions into
2 onions and
4 onions.




TO5_S02
Example| Write correct numbers in each of the . )
—_—

What numbers can 2
you split 6 into?

2




Exercise

Write correct numbers in each of the

T05_S02




Exercise

Write correct numbers in each of the

T05_S02




Exercise

Write correct numbers in each of the

T05_S02




Exercise

Write correct numbers in each of the

T05_S02




Exercise

Write correct numbers in each of the
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-~

Example

Write a correct number in the

3

90000
00000

2

o

00000
00000

How many are there if

we put 3 and 2 together?

M

=0l

Exercise

@ e0000
00000

Write a correct number in the

@ 0000
00000
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Exercise | Write a correct number in the
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4 I
Example| Write a correct number in
00000 00000 /
>N T BN
\ 00000 Split5into3and 00000 @/
Exercise | Write a correct number in
O] @
88538 1 88838 1] 833 2
S S S
N~/ ) e
83338 888 83338
@ ®
38883 1 38883 2| %8 3
4 B8 | 4 &L | 4 olelees
MY MY MY
) )
88838 8838 83388
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-

How many onions are there?

=

ee0eeeees

-

~

@ Good/!

There are 9!

How many onions are there?

N

J

s

.
-

If we put one more onion here, how many are there?

)

2

s

There is no
space. We can’t
put anymore.

We don’t know
a larger number




T I

Then, let’s look at how to write larger numbers than 10 with this picture.

|

We can write 9 below the |§|
when there are 9 onions in the

box.

X

O & Reeeseses |

If we put one more onion in the box, what will happen?

’ & &
b @ & &
3 &
& @
& ®
3 ®
3 &
& &

b1 oy /]

P AR w i © W ©

Put an onion in the box,  NOW the boxis full. There is a box of ten
Move it to the left side. onions on the |eft' so we
write 1 below the

and 0 below the |§| /
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Then, if we put one more onion here, what will happen?

—

Ve
| We put an onion into the
empty box of |§| .
It becomes larger than 10.
pAY

O |©| 0

We write “11” as one larger number than 10. \

The number which is one

larger than 10 is 11.

i
w o O

1 1

Put 1 onionto 10 onions.  Now put 1 onion on the right,

so we write 1 below the |§|
and we write 1 in below .
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Example| How many onions are there?

i i @Gmd/!
=
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Exercise | How many onions are there?
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Exercise | How many onions are there?
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Example

How many onions are there?

.

Put all onions together. =~
And write the total

number in the D

Exercise

How many onions are there?
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Exercise | How many onions are there?

% [10




Exercise

T06_5S01

How many onions are there?




Exercise

How many onions are there?

T06_5S01
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Check how to write and read the numbers below.

Colour as many O as the number of (.; & in the bowl.

onion

d@vew

00000 00000
00000 OCOOOO

twelve

00000 00000
00000 COOOO0O

ﬁfu’/rte/e/w

00000 00000
00000 COOOO0O

fourtzen

00000 00000
00000 COOOOO

L5) ffieen

00000 00000
00000 OOOOO -/

Let’s read the “number” and “character” shown by
onion @ aloud one by one.

\_
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geseeess 141

=

eleven

\_

Example | Write the numbers and words

Trace grey letters and copy them in the boxes. }

ssesessxs (4444

elevew | elev

elevenv

Exercise | Write the numbers and words.

J
& et

82888823 (11
elevenw
383238233 (1.2

twelve

0000000000
00000 OOO00

13

thirvteen

00000 00000
00008 OOO00

14

fourteen

00000 00000
00000 COOO0

15

v

eevv
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Exercise | Write the numbers and words.

ssseeess 14

elevenw

833882333 |1 2

twelve




Exercise | Write the numbers and words.

00000 00000
00008 OCOOCO

T06_S02

15

thirvteen

0000000000
09008 OO000

14




Exercise | Write the numbers and words.

T06_S02

sssssseese 1 5

fifteenv

Exercise | Write the numbers and words as many as the number of @.

00000 00000
L 00000

44

@ 00000 00000
00000 OO0

elevenv

14

2 0000000000
00080 COO00

Q 0000000000
00000 COOOO0

@ 0000000000
00008 OOO00

00008 OOO00




Check how to write and read the numbers below.

\_ 00000

twently

00000

Let’s read the “number” and “character” shown by

onion @ aloud one by one.
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/ Example | Write the numbers and words. 2
Trace grey letters and copy them in the boxes.
00000 00000 00000 00000
Exercise | Write the numbers and words. @ Good/
00000 00000
.. ] 0000
sixleevv
00000 00000
0000000000
seventleerv
0000000000
0000000000
eighteer
00000 00000
0000000000
nineteerv
00000 00000
00000 00000
twenty
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Exercise | Write the numbers and words.

ssssseees ] 6

sixteevv

ssssszees | 7

sevenleesv




Exercise | Write the numbers and words.

00000 00000
000000800 0

T06_S02

18

eighteerv

0000000000
0000000000

43




Exercise

Write the numbers and words.

T06_S02

20

twenty

Exercise | Write the numbers and words as many as the number of @.
00000 00000 D 90000 00000
00000 600 0 00000000 0

simeerv |1 6

2 00000 00000 C 00000 00000
0000000000 0000000000

3 0000000000 ® 900000 00000
0000000000 0000000000
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Draw O on the correct number of onions. \

/Example

Whichis |11 |?

gooeoeooeY |oevooRRREE
? 4

PG G| | AR

G ot/

K11is, e 115(1@;)' @/

Good/
Exercise | Draw O on the correct picture.
@ Whichis |11 |? @ Whichis |12 |?
setctetetctstotersd| [TTTTTTTTTT
G K K i s s s i s e

ot TTTT

) () e D ) ) o) ()
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5 f
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11is «f 12 is




Exercise

® Whichis |13 |?

Draw O on the correct picture.

@ Which is

T06_S03

P P P P 24 B 2 2 2

AR A

AR A A

13is w ¥

® Whichis |15 |?

® Whichis |16 |?

898888484844
98948484
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Exercise | Draw O on the correct picture.

@ Whichis |17 |? Whichis |18 | ?

T jeeesssssse
WAWWW| s

17'1—@ \ 1813z & &

@ Whichis |19 |? Whichis [20 | ?

CEELELEEEE s
CELSLLEL8E Ssooo0o00S

19 # & 20 Y e
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Example | braw O on the larger number.
00000 00000 00000 60000 00000 00000 00000 60000
00000 60000 008000 OOO00 00000 60000 0080808 OOO00

16 11 16 11

The larger number is 16 11 E:> The larger number 16 11.‘

\ —
. Good/!

Exercise | Draw O on the larger number.

D 00000 00000 00000 08000 2 00000 00000 00000 60000
00000 OCOO00 00000 OO0 00000 OO000 0000 OOO0O0

00000 00000 00000 00000 00000 00000 00000 00000
® 00000 60000 0080808 OOO00 @ 000080 COOOCO 00888 OCOO00

16 13 15 14

The larger number is 16 13 The larger number is 15 14

The larger number is 13 12 The larger number is 16 15




Exercise | Draw O on the larger number.

@ 00000 00000 00000 00000
00000 60000 00000 00000

16 18

The larger number is 16

T06_S04

00000 00000 00000 00000
00000 OCOO00 00000 00000

15 17

The larger number is 15

The larger numberis 18 20
" 3a3838s88 s2288 88see
20/ |19
The larger numberis 20 19

The larger number is 13

The larger number is 19




15

The larger number is 17

15

Exercise | Draw O on the larger number.
@
12 13
The larger number is 12 13
@
14 15
The larger number is 14 15
@ @
17 18
The larger number is 17 18
@ @
11 13
The larger number is 11 13
® @®
12 14
The larger number is 12 14
@

T06_S04

20 17

The larger number is 20

15 11

The larger number is 15

14 18

The larger number is 14

19 15

The larger number is 19

16 20

The larger number is 16

13 14

The larger number is 13

14
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18 15

The larger number is 18

16 17

The larger number is 16

17 14

The larger number is 17

15 14

The larger number is 15

17 16

The larger number is 17

Exercise | Draw O on the larger number.
@
14 11
The larger number is 14 11
@D @
15 12
The larger number is 15 12
@
19 17
The larger number is 19 17
@
13 16
The larger number is 13 16
@
20 18
The larger number is 20 18

16 15

The larger number is 16

15

18 16

The larger number is 18

16
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Example

10

1

Write a correct number in the

How many are there if we
put 10 and 1 together?

%>~;] =

[ 9,000
00000

10

/

[1_1]5@

Good/

N =
Exercise | Write a correct number in the

" gesss ?gsee Vessss

10 10 10

of BE 1/ B 3 =
© ge88 ©gsses ©gsss

10 10 10
Ve Ve T




rect number in the

Exercise | Write a cor

o
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Exercise | Write a correct number in the

® 33339 EF ++++4 ssoce
10 10 1():
6 7 8
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Example

Write a correct number in

Split 11 into 10 and

10

B

~

@0000 €000 @0000
00000 00000 00000 00000  Good/
\ "/
Exercise | Write a correct number in
® @ ©)
10 10 10
00000 00000 00000
00000 00000 00000
©0000 00000 00000
00000 ecoss OO0 soccs 00000 Nl
Q0000 00000 00000
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Exercise | Write a correct number in

11
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\

has 4 onions.
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=

Let’s write an number sentence of “addition” for this picture.

\

We use “+” and “=" for addition.

AN

Write the number of & inthe (.







rect numberin the

) O+ =0

Exercise | Write a cor

) SE
)+ ()=
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Comeoan| [
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L+ =] [3 C]

o e ©—><-@->.

J+J=0UJ]|U+UJ=U

PO

Ol 0-0

@

Come T b))

5.0 0 0-0
Ol O+0-0
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Example | Add.

.

Exercise | Add.

)

1|+

O




Exercise

T07_S02




Exercise

T07_S02







Exercise

Add.

T07_S02




Exercise

Add.

T07_S02

O

.+.

O
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Example | Add.
8]+ [4]==[8] + [4]=(7)
Exercise | Add.
@ ® Good/
O —>< —> O —> <=1 [—>
1]+ [o]=( ]||[1]+[4]|=]
O _>add<_D —> O —§1d<—|:|:|:|:|:|—>
11+ [1]= || [1]+[5]=( )
R R I 0 e >
1]+ [2]=]| [1] + 6]=]
S el B 0 —><HT-
11+ [3]=( )| 1]+ 7] =)




Exercise

©)

Add.

0O —_ T1TT1T1
add. L]

T07_S03

1| +[8]=(9]

@

T 2= P —> o >
2] + [o] =(J|| [2] + [4] =(J
T >0 > —> &>
2| + = | + (5= |
® 2T P E il
2] + [2]=(0]|| [2] + [6] =]
T &0 > > H->
2]+ [3]=(J|| 2]+ [7]-00




Exercise

Add.

T07_S03

® @

el |
3+ o]l=(]|| [8]+[5]=)
il | Gl
3+ 1]=]|| [8]+[6]=)
i e |
3+ [2]= ]| 4]+ |0]= ]
e ) T =<0
3+ [3]= )| 4]+ [1]=]
3+ [4]= )| 4]+ 2]= ]




Exercise

Add.

T07_S03

il TID—> <~

41+ |3|= J|||5]+ |0
S R R
4]+ [4]=]|| [5] + [1
S I (TTTD —><— [T
4l +15/=)]| 5]+ 2
@

g P ||[mmeem
6]+ |0]=(]| 5]+ |8
gm0 > ||[mEaeos
6]+ |1]=( ]| [5]+ |4




Exercise

@

Add.

T07_S03

0TID _y

add

6

+

2

oL —><— 00

add

add




Exercise | Add.

T07_S03




Example | Add.

\3+4[]:>

e e,

O+ (0= + | 8
O|+ |1]= + |9
0] +[2]= o] =
Ol + |3 = + 1] =
O] + [4]= L2 =
O|+ |9]= + 3| =
Ol +|6|= + 4| =
O|+|/]|= + |9 =
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2| + |2

Exercise | Add.
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Exercise | Add.

4|+ |2

4| + |3

4] + [4
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Exercise | Add.

8l + |1




T07_504

Exercise | Add.




T07_S04

Exercise | Add.

1]+ |8
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Exercise | Add.
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Exercise | Add.

o

[ ]|/ [o] + |6

6|+ |0
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Exercise | Add.

@

|
—h
+
o)
I

6| + |1

6]+ 2]=(]||[2] +[6]=[_
6]+ [3]=)|| 8] +[6]=
@
o]=( J|| |O = ]
1] =]l [1 =

N
|
N
|

) _J —
8]+ [o]=()|| o] +[8]=(
8 1= ]| [ 8=
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Exercise | Add.

\, S

\, S

\, S

\ 7

\ 7

\ 7

\ 7

.

1

+

+

+

+

+

+

+
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Exercise | Add.

\, S

\, S

\, S

\, S

\ S

\ 7

.

.

.

+

+

+

+

+

+
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had 5 ‘

tomatoes

~

How many
tomatoes are left?

How many

tomatoes are left?

J
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(w )

Let’s write a number sentence of “subtraction” for this picture.

N

) @&
TS e e
How many

tomatoes are left?

“ 4

We use “—” and “=* for addition.
Write the number of tomatoes in the
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Example

Write a correct number in the

=
v subtract

,
L D |
S

u

—C

_»If&-'\ D
\---J
v subtract

-0~6B-=2

Exercise

S

Write a correct number in the

- )
=1

[3[:=

DC=

=

~
?”.‘*L'
subtract
o]
subtract

=
[DC

@

()

subtract




Exercise | Write a correct number in the

©)

~
@ S [P

; ' > {1 3 11
[ subtract

S

-0

T08_S01

1
A S Pl
=gl -
J

)
S

——r )

-0

~
BH>ES | (seee
= =/ subtract —

~
==y

1 ] C 113

[ subtract ) v
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Exercise | Write a correct number in the
® @
- ---\ B
T @ P o
subtract :g subtract —
J

-

=L

=

?{‘%r‘%r‘%

===

———Y %
subtract

J

O—C=C]

- — 1
el S CU
subtract N—

C]_

C=C]

===~
"*-“f’ —>(8es )
subtract N—

C]

C=D

r———\
v-\:\:’ OO
subtract S

O_

0-0

-C

(Eoa9d), 51551 | ;
subtract ) —

J

~
G I, roth
subtract

0-C




Exercise | Write a correct number in the

T08_S01

©)
ooy >EEE |
J

=) @@

@35y >3
subtract
subtract




Exercise | Write a correct number in the

T08_S01

'@W:@'@
su btract -

\.—/.\—a
subtract

=71
\ vvvvv
;J_%l

subtract

,a %o f




Exercise

Write a correct number in the

@

T08_S01

oy N
-»{_]
subtract

-»{_]
subtract

=

D [:

C] C

=

>}
-
subtract

0-C

=\

=
ooeee)
N==———"""subtract

D

-0

r-\
2&0& ->_J
v subtract

D

-0

=
soe -
v subtract

~N

J

-0

=
S
. =
subtract

D

O (6

| | [5

08 od

oooee

(44
3
@

mj
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Example

Subtract.

—Hﬂw%q

subtract

L=

b

2

\5

:>

[ &3
v subtract

O

Exercise

Subtract.

@

subtract

1

1

-subtract

1

2

—
M

subtract

)

3

;

s

=y
soe@ry
N— subtract
\,

~N

4

;

s

~
=\
iy
Sove@) 7"
N— subtract
\. )

O

1

r
subtract
\ J

N

1

rf‘%‘l
subtract

1

f<)

( -
00VP9)) o,
2 “m -
v subtract
\_

N

8

-




Exercise

©)

Subtract.

o (o Y
7o

subtract

\,

9| - (1

@

T08_S02

S-Sy Pl

subtract
\

é )

2 2

s

\

p——

-

~
v subtract

S

6

2

,.--\

@V/ subtract
\

N

2

,.--\

.subtract

2

’--\

ubtract

Co sl =
3 — 2 =
a Y
Dl o
\, )
4| — |2 | =
a )
> &“
T il
\_ )
5| — |2 =

2
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Exercise | Subtract.

[ ———— ) [ ———— )
S @ (S5
subtract :g subtract

. J . J

3—3=C] 8] - [3] =

s

E"" — g subtract
L subtract ) L )

4] - [3]-0 |- (3 =

subtract
5-3-0 |77 4 - )
),@M. ) R Y ey

subtract Jé -su‘k:);-:c:/t-\: —
~[8)-0)|[8 -1 -3

>f~*~ ) e )

@EPED | =l
71-)-0 6]~ @) -0




Exercise

€)

Subtract.

T08_S02

=

7] - [4

8] - [4

~

P
subtract

r
e N
(eoses)
——~ subtract
.

ol — |9

\

(" =, | pemmm————
"“" PLOHEY
subtract

6| — |5

r | e em———
(D), LB
y subtract

/| —15

.

subtract

.

@ e~ v Vg 1

subtract

q
7]— 1|6

r P ————CP T TP
(CI0) LB
subtract
\_

8| — |5

( . P T ———
CTYTT, PSSR
‘ subtract
\_

-0

9|- |5




Exercise

Subtract.

®

T08_S02

9

é /———"‘——..\
‘a—’_\—a
subtract

s

8

T
““ vvvvv
¥_’\_—’_\—ﬂ
su btract

E oo
P byt
e

\_/\_/\_/\_/\_/

f y m—— M&M"]
X v subtract

\

\_/\_/\_/\_/

9

9




Exercise

Subtract.

@

T08_S02

0

= |

=\
1
v

subtract

=
A =
subtract

=\

N

subtract

( P
U1 > L
subtract
\_ )
° B :
subtract
\_ )

4] -0

ﬁ“‘ﬁ
——

r-\
.—»-

\--J
subtract

5 —

0‘&‘0

r-\
\-—J
subtract

6_

O =

r-\
\-—J
subtract

7_

03:&0 >} :
v subtract
\_ Y
r r—\ 1
oooeey > ) S
subtract
\_ Y

O —

Ol =

.




Example

Subtract.

-
"Ir——-\
o

==l
ubtract

\

.

O

2

-

> T];
‘--ﬂ
[ subtract

2

Exercise | Subtract.

@ @

4 P 4 )
o---—">- o7
L subtract L subtract

:

L subtract
4 7‘.[_“
1
] () i I—)
L @ subtract
~ 7‘5\
1 |
EEE PN
L @ subtract

4

1

U

s

[ITTT] (]
@ ———r-"
{ ]

subtract

s —
EEEREPE, (8

subtract
.
r

mummm)Ps <n!
LED@’ subtract

3 1




Exercise | Subtract.
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Exercise | Subtract.
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Exercise | Subtract.
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Example | Subtract.
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Exercise | Subtract.
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Exercise | Subtract.




